Good afternoon:

Warm up: find the area
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Basic antiderivs, U-substitution and Finding C

(old)

(p. 301 #47-50)

T

(will do more today)









s(t) =-161" +v, +s,

t=0s,v=0m/s —e@
t=1s,v=98m/s—e@

t=2s,v=19.6m/s — @

t=3s5,v=294m/s — @

t=4s,v=392m/s — @

t=5s5,v=49.0m/s — @
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Okay now back to area :)

Riemann Definition of Definite Integral
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How to approximate definite integrals
Estimate the area under the curve f(x) = x* —5x%2 + 6x +5
Oun the interval [0.4] using 5 subintervals of equal width.

Write as a definite integral

o
j & X=S% L 6xtS dx
Write approximation as a Riemann sum
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Left-Rectangle Approximation Method (LRAM)
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What would the value of ] JC ( 7\) J \ be?
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A 'better' way?
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P. 263 #25-30

AND

take notes on video to be posted at mcalc.weebly.com




